
→ 0
E.→ 0

.

Hence peace ) = 1 .

Theorem :

( it µa
is the unique compactly supported

measure on ① so that

Had = f. Ioglt -Hdp.lt)
4

For a.e. YE ① .

Iii) Equality in the above statement

holds everywhere in Ola)
'

.

I c- lad = ftndp.lt) for all NE1N .



set 7 . Ioglol * Ma .

JIN - fel.gr/t-tIdpaltI

Note tell .dk) .

(Tonelli
)

(

loglt-zfdpatd-fc.fi/Ioglt-zIdzdpdHEClkI..)fF
Lemma :

5ps gsh : e
→ IR are locally

integrable , Igte) - they ¥50 ,
and

72g = J2H as distributions .

Then gih a. e.

# I4G -4=0 so g- he



is harmonic .
But Weyl 's Lemma

implies g- h is equal a. e.
to a

harmonic function ,
which tends

#o 0 at • .
Hence g-

h=0 a. e.

Note Had is snbharmonic ,
hence

locally integrable .

-

Suppose IN > Hall

Ya - D= logltl - Re §
Had

7N 'S

.bg/z-HdpaH--feloglH-Re&nInEdpialH--IoglH-ReE
,
feEdpa¥



Illa - H - JIN
€ § 1%4 -⇐ dpak.tl

← 2€
,

=

'

0

As distributions
,

fly. = 7410Gt - I * Ma)

=

log I. 1) * pa
↳ 21T No ,

the

= IT do) * Ma Brown measure

of 0.

= 21T Ma -

17244) = 2tµa by definition

Hence Had = IN a. e.



Suppose now
that

µ
is a measure

on
6 so that Had - { Ioglz -Hdµ⇒ .

Then log I. I * µ = Iogll * Ma ae.

as

functions on ① .

2Tµ= 21T d. *µ

= (0%4.1)-4
= (74%1.1) * Ma
= 2hPa .

Hence µ
=

Ma
'

( iii) We saw

t.la,) and 714 have power
series

←

lgklt-RIhn.tn/EdpalH=--IoglH-RefkEk"



So for all n
,

SEdp.tt = Had .

( it Its Way) is harmonic on Enola)
,

in particular, continuous
.

Meanwhile
,

HH-HHIEHgls.zt-loglt.tt/dpate )
¥ 0 .

Hence 7 is cts on Chola) .

Since ftp. Had a. e. on ① hold
,

they must agree everywhere on ① local
.

¥



Theorem : suppose a E M . Then :

(i) for
any polynomial p,

Molas
=

Ma# p

( ftp.a.IAI-pla/pYAD)
Iii)

µ ,
=

pa
#
÷

Iii) if a is
invertible

Ma"
=

µ #
.

"

¥"

Suppose p
is a Caen - constant)

polynomial and I e ① .

Take s . .
. .
He E so

that

pla) - I = a la - b.) la -µ . .
- Ca - XD .

Then



{ logte -Hdµµ, =L ( plat - t)
= Yala -1,1 .

-
- la -⇒

=L (a) tL( a- 1.) t . -
- tha - 1)

= loglaltg.FI/IogIz-tjldpate)Q

= { loglate-tbi-ite-HIdp.tt
= f. Ioglpte) - Holgate)

= Set .gr/g-Hd4ua#p)lyf .

a. e .

Hence
plpca, = Ma #P .


